
1

n∑
k=1

(3k2 − 3k + 1)を求めよ．

(25 岩手大 教育・農・獣医 1(2))

【答】 n3

【解答】
累乗和の公式を用いると

n∑
k=1

(3k2 − 3k + 1) = 3 · n(n+ 1)(2n+ 1)

6
− 3 · n(n+ 1)

2
+ n

= n
6
{3(2n2 + 3n+ 1)− 9(n+ 1) + 6}

= n
6

· 6n2

= n3 ……（答）

となる．

•
n∑

k=1

(3k − 1)を等差数列の和と考えると

n∑
k=1

(3k2 − 3k + 1) = 3 · n(n+ 1)(2n+ 1)

6
− n{2 + (3n− 1)}

2

=
n(n+ 1)(2n+ 1)

2
− n(3n+ 1)

2

=
n{(2n2 + 3n+ 1)− (3n+ 1)}

2

= n3

となる．
• 3k2 − 3k を階差に分解すると

n∑
k=1

(3k2 − 3k + 1) =
n∑

k=1

3(k − 1)k + n

=
n∑

k=1

(k − 1)k{k + 1− (k − 2)}+ n

=
n∑

k=1

{(k − 1)k(k + 1)− (k − 2)(k − 1)k}+ n

= (n− 1)n(n+ 1) + n

= n(n2 − 1) + n

= n3

となる．


